loop2:      


pulsin portb.0,1,rcin


if (rcin>1000) or (rcin<500) then


    test1rcin=rcin:goto testsignal


endif





rcin2=((rcin-536)*10)/17





if (rcin2<1) or (rcin2>300) then rcin2=0:goto loop2


if rcin2>127 then


    portb.4=0:portb.5=1:goto fwd2


else


    portb.4=1:portb.5=0:goto back2


endif





fwd2:


duty0=(rcin2-127)*2


if duty0>260 then duty0=0


goto genpwm2





back2:


duty0=2*(127-rcin2)


if duty0>260 then duty0=0


goto genpwm2





genpwm2:


'if (duty0>260) then duty0=0


'endif


hpwm 1,duty0,2000


lcdout $fe,1


lcdout dec rcin," ",dec rcin2," ",dec duty0


goto loop2





testsignal:


hpwm 1,0,2000


x=0


for x=1 to 10


pulsin portb.0,1,test2rcin


if (test2rcin<(test1rcin+5)) and (test2rcin>(test1rcin-5)) then


    test1rcin=test2rcin


else 


    test1rcin=test2rcin


    goto testsignal


endif


next x


goto loop2


end


